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If it is not holy, why is there a ‘bearing of sin’

Overview

The rule is if one separates an inferior quality of produce as 7m0 for a superior
quality of produce (which he is not supposed to do, nevertheless) it is a valid 717n.
It is derived from the 109 of 11An 1257 PR DM Xum oY Wwn X' The oo
teaches us that if we separate the 12717 (the superior produce) there will be no mMxwa
Xvr, implying that if we are not w191 the 12717 (but we are 72107 %Y 777 72 w9n),
there will be a Xuor MX*wi. This proves (states *RY2X ') that when one is » w197
720 Sy avan it is valid g, for if it is not 7m0, then what sin has occurred
(there was no 70 w15 at all — nothing happened).

There is a dispute in 77120 'on when one does something which is prohibited (like
being w>7pn a 01 2¥2 for the nam) is that action effective (the view of »aK) and the
animal becomes w7pH, or not (the view of &27). MdOIN discusses the proof of "
RYOR in light of that np1onn.

- 93750 92Y IR 1AYN KY NN MNT RN 9 (3,797 nmnmny BN Z90NT INPY
According to the one (>2X) who maintains there, anything which the ;790 says,
‘do not do’; if he did it, it is effective, the reason he maintains that it is effective -

= DY INNIN 2NN XY INT

For if it is not effective, why should he receive lashes (nmp7); according to this 7"» -
= 1119995 NN NOYN Yy NYIN 17 OINNT FNINRPT INND NN
It is understood what *xy5X "1 said that one who is 270 from the bad on the

good, his 290 is a valid 72y -
- >nnb NON MINOYI WITH 199N INT

For if his 72170 is not holy, why should there be a ‘bearing of sin’ -
- NN MINPT RNDININ 9297 0IVN ¥PYT N 230 KY 12y INT DND 1INT INDY YaN

However according to the one (X27) who maintains there that if he did the
transgression it is not effective, and the reason why he receives mpv» (is not
because something wrong happened, but rather) because he transgressed and did

'35,m (mp) 22702,

* See ‘Overview’.

3 This 7"» maintains that there is a punishment only if the transgression which he committed is effective; in our case
the MmN which he was wrongfully w791 is indeed nm17n, for otherwise why is there a sin, since nothing really
transpired.
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something which the 57910 prohibited him from doing -
= 7179 NON MHNIY) VTP 1°K OGN N912) NIOD 99RP NN VP 19 ON

So according to this 7"» what is the X923 ("RY2R 1) saying here that if the 72170 is

not 7P, why is there Num nINSw2; what proof is this -
— YT IINT 9 NN DYDY XYY

Perhaps I can maintain that the 72170 is not 2P -
= NIINI MINRPT RNIMNIN 9297 NON MNIYI NIIN 191 199N

But nevertheless there is X4 nWR>wi because he transgressed on what the 770
prohibited him from doing, like in all other cases of *11 X% 722y °X 7°2yn XY 7307 MRT 72 93,
where the punishment is for the act, not for the outcome of the act?!

MO0 answers:
= 931199 N1 23119 N9 RNAYYA INTIT 999 v

And one can say that certainly (according to X27) elsewhere it is not effective if

one transgressed, however here (even X271 agrees ) that it is effective -
- 2)1m5 NNY RON MNOYI YITH IPN BN KIND) TINDT 1391

For this is what the X923 is saying, if the 72170 is not w7P, why is v niRsen

written -
= N3NNI 9INPT NNDMIN 9297 DIVN N 912195

Meaning; if Xvr nX°w1 is written because he transgressed what the 77710 said; it

is unnecessary to state Xor nxw1, for -
= 9189 YN PT adN %93 13195 129N NN 0919911 >3 NP2 )2

Since the oD states (here) ‘when you will separate the choicest from it’ and it

also states previously, ‘all the choicest of grain, wine and oil’ (referring to mm1n) are

to be given to the 172 -
= 9a¥1 ROV 1AUNMN NN KD ON) N9 119 DIINY DIRD Y WIY yHunNT

Which indicates that it is incumbent on the person to separate 72170 from the

best, so it is obvious if he did not bring from the choicest, he transgressed -
— NLOY 19191 129N NN D912 XOVN DY INUN NI NP INN 291D NNY 19 ON

So why is this P25 of 12272 1257 IR 25RI72 XL 1VHY INWN XYY, written, when it is

obvious that if he is not 7197 12 0N he is transgressing -
- IINDN 2IY NNT NN TP AYIN 1B ONNNT 19 MY NYaND 53757 NI YAY NIN

But rather we derive from this that the reason it was written is to teach us
that when one is ;7719°77 5 777 32 270, that there are two sins -

* 7m% xvn mxewa does not (merely) mean why is there a Xon mx"w3, but rather why was it necessary for the 7710 to tell
us that there is a v mxwi. We know that without writing Xur nX*w1 as '01n goes on to explain.
> Se footnote # 1.
b 3. m (7p) 7272
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= 1191 111 DN NINNI 9INPT N1 HY 9ayYW XLN
One sin for he transgressed on what the 770 said that he should be 3% 270

719577 (and this sin we know even without the P09 of Xur 1oV WRWN X91), and the P05 of RWN X

X0 1°7¥ teaches us that there is -

N9°0 DY NYIN 11 ONNY ININ NPT 1991 NYIN 1N AMIN NXMHNT INMIN YY XOVNY
999

Also an additional sin on his 72790 from bad produce, so that is what *Xy5x

said, from here we derive that one who is 7727 ¥ 79977 3% 2790 that the 7= is a
valid 770, and he receives an extra sin (not only for his action, but also) for what he
accomplished that there is ‘bad’ f17n.

Summary
Generally (according to X27), one is punished for the act of a transgression (not for

its outcome [which does not exist]), however by 2170 the 7710, by writing Wwn &9
Xun 19y, teaches us that there is an extra sin for the outcome of having v 72170
(proving that it is 772170).

Thinking it over
Is the second sin merely another sin (so that there are two [equal] sins), or is the

second sin somewhat different that the first sin?’

7" See Tmbn wAon XX # 135-6.
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